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7 163 % {FWX WEIST 2 4 1.00.787
8 164 [f iz WEIST 2 4 1.01.697

FiE 9 160 mIl &M WEIST 3 1.02.833
10 158 HiR &EA WEIST 3 1.04.704
11 173 2@ @t ARX=TY/ 3 1.04.984
12 162 & K WEIST 3 1.13.170
13 169 #& FE4&E HEIZT 4 1.06.305
14 170 Bk i HEIST 4 1.17.437
15 167 BT & HEIZT 4 1.20.128
16 165 /NE KF0 HEIZT 4 1.24.494
17 168 &R £#k HEIZT 5 1.19.206
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DR B (S IESL)
(a—kr3v %R

)

FERFRO1=Ta—rIVIRE—F Ry —MEFEASE B KRR

INEERPLE BF

IIESE No K4 g BA SF BRI S B=EE BEIE5E ®1000m (p)500m  {EE
1 171 /Nt BB AXZITH/ 68 2 1 148452 (341 (34)1
2 166 HH WE WEYVSD 34 5 2 153497 (13)3 (21)2
3 161 Rk & WEYSD 29 6 2 148562 (21)2 (8)4
4 172 K9 FHRi& ARZTH/ 21 7 3 153587 (84 (13)3
5 159 [ & WEYVSD 11 5 202221 5 6
6 157 #1H HE WEYSD 11 5 2.02.681 6 5
7 163 %k {FWX HEVSD 14 7 203128 7 7
8 164 [f #iZ HEYSD 16 8 2.03.649 8 8
9 160 mJIl &M HEYSD 18 9 204432 9 9
10 173 EH @th AR2TY) 21 10  2.06.267 10 11
11 158 HR &EA HEYSD 23 10 2.21.024 13 10
12 169 #& FR4&E HEYSD 25 12 2.19.416 12 13
13 167 BT & HEYTD 26 11 2.18.408 11 15
14 162 & K HEYTD 26 12 2.23.154 14 12
15 170 #iE HiE HEYTD 31 14  2.59.597 17 14
16 165 /NRE KF0 HEYTD 31 15  2.31.204 15 16
17 168 &R £#k HEYTD 33 16  2.35.442 16 17
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F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

&L E Z&F 1500m
Y

148
& I8 No. K% & a8 24 L ikl
1 21 Fith gzl INEBRER 34 2.39.584

2 25 JtiE ¥ RN ISY S 21 2.39.638

3 26 /Nt RE RIEH R 13 2.39.807

4 28 JKEF EE REATE AR 8 2.39.891

5 22 B CavurBEF ERER 5 242013

6 24 il BEF INTFFREFER 3 2.49.955



NR BRI (52 E5D
(Ta—rrov o)

F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

&L E Z&F 500m
Y

148
& I8 No. K% & a8 24 L ikl
1 21 FHih %@*L INEBRER 34 48.848
2 25 JtiE ¥ RN ISY S 21 49.023
3 26 /it RS RIE 2R 13 49.252
4 28 JKEF EE REATE AR 8 50.031
EREEHFES1=7oa—MNSYIRE—RRr— MEFHEASAAAS TRE234E3 A58
hep &L E &TF 500m
FE2 E1Gi2
148
& No. K% BilE Ba BAL EE
1 21 Zith izl INEB R 49.994 Q
2 28 JKE EHE REATE PR 50.999 Q
3 22 B CarrrEF mEihERk 51.537
24
&I No. K% FiE ga AAL EE
1 25 dtiFE ¥ FRNE IS5 50.441 Q
2 26 /Nt RE RIEFZER 50.557 Q
3 24 |UE EBEF INTFFREFER 53.892
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(a—rbov IR )

F26ERFRS21=Fa—rIVIRE—FRT—FRFERSH B RS

h& 4Ll E &ZF 500m

592K B No K% il B FP BX = BO BX BE
RIS 1 21 Fith Hlitl INEBHRER 1 1 34 48.848

2 25 1tE ¥ AR 5 1T 2 21 49.023

3 26 /hith B RIEFER 2 3 13 49.252

4 28 KE ¥HA MERTE R AR 2 4 8 50.031
FiE 5 22 B Cav u+EF mEPERK 3 51.537

6 24 H EBEF INTFRERER 3 53.892
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NR BRI (52 E5D
(Ta—rrov o)

F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

&Ll E Z&F 1000m
Y

148
& I8 No. K% & a8 24 L ikl
1 21 Fith gzl INEBRER 34 1.44.249
2 26 it RS RIE R 21 1.44.474
3 25 JtiE ¥ R ISY SR 13 1.45.334
4 28 JKEF EE REATE AR 8 1.46.455
EREEHFES1=7oa—MNSYIRE—RRr— MEFHEASAAAS TRE234E3 A58
hEE &Ll E &F 1000m
¥k 2 E4i2
148
& No. K% BilE Ba BAL EE
1 21 Zith izl INEB R 145519 Q
2 28 JKE EHE REATE PR 145617 Q
3 22 B CarrrEF mEihERk 1.46.285
24
&I No. K% FiE ga AAL EE
1 26 /it ﬁi%f RIgEhZER 145211 Q
2 25 dtiFE ¥ FRNE IS5 145294 Q
3 24 |UE EBEF INTFFREFER 1.49.770



N IESIF (FEEEANESL
(a—krov o5 FR)
FE6ERBFBES1=7a3— NSYIRE—FRT— M EFHEAREBAKRE

592K B No K% il B FP BX = BO BX BE
RIS 1 21 Fith Hlitl INEBHRER 1 1 34 1.44.249

2 26 /hith fHE RIEFER 1T 2 21 1.44.474

3 254tE % AR 5 2 3 13 1.45.294

4 28 KE ¥HA MERTE R AR 2 4 8 1.45.617
FiE 5 22 B TarvuEF BRPER 3 1.46.285

6 24 H EBEF INTFRERER 3 1.49.770




NR BRI (52 E5D
(Ta—rrov o)

F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

th22 4 Ll E ZcF 3000m SF
- R

148
& I8 No. K% & a8 24 L ikl
1 21 Fith gzl INEBRER 34 5.33.381

2 26 /Nt RE RIEH R 26 5.33.847

3 25 JtiE ¥ R ISY SR 13 5.33.951

4 28 JKEF EE REATE AR 8 5.34.062

5 22 B CavurBEF ERER 5 5.38.097

6 24 il BEF INTFFREFER 3 5.52.100
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FEERFRO1=Ta—rIVIRE—RF Ry —MEFEASE B RR

pEELLE XF

EGE No K4 FiED B SF IBfIA SEEE TR ER8%E ©)1500m ()500m (p)1000m (p)3000m e
1 21 &gt fmsl INBHRER 136 1 3 1 239584 (341 (341 (341 (34)1
2 26 /hith RS RIEFR 73 2 8 2 239807 (13)3 (13)3 (21)2 (26)2
3 2514tE ¥ A mER 68 3 7 2 239638 (2102 (21)2 (13)3 (13)3
4 28 KEH ¥E R EA T AR 32 4 12 4 239891 (84 (84 (84 (8)4
5 22 B Carv u+EF MHPER 10 5 15 5 242013 (5)5 5 5 (55
6 24 lE EBEF INTFRERER 6 6 18 6 249955 (3)6 6 6 (3)6
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FWEEHFES1=7La—rSvIRE—RRY—NEFHEASEAKRE ERR23E3A5H
heg4& L E BF 1500m
R
148
& I8 No. K% & a8 24 L ikl
1 142 BT E INBER 34 2.33.617
2 143 Fith BFHE B ER 21 2.34.070
3 141 UjE KBA INBER 13 2.34.097
4 145 Fgith jEa EH P ER 8 2.35.463
5 146 BRR & B ER 5 2.35.485
6 149 #tE #X BEKE 3 2.39.000
7 147 BRR E B ER 2 2.53.609
- 144  Zgith FKX B ER NI



B IERR (S ERD

(Ta—rrov o)

F26RRFES 1273 IVIRE—KRRy—MNEFEREAAKRE FrE23%E3H5H
&Ll E BF 500m
Y
148
=B No. K4 iiE 5= 2A L BEE
1 141 |UiE KBA INBESR 34 46.344 CR
2 142 BT B INBER 21 46.458 CR
3 144  Fgith K B ER 13 47901
4 143 Fgith HIE B ER 8 48.283
HEEEFES1=FLa—rIUIRE—RRr—MEFEALFAAEL TrRi23%E385H
this 4Pl F %% 500m
T3 2 Lhi2E&H
148
ElE No. K% g B A L BEE
1 141 Uil KEA INBESR 47.403 Q
2 143 it B B ER 48.706 Q
3 149 #E #X RFEKRE 48.996
4 147 SRR E B R 50.330
248
=B No. K% E &R A Ls BEE
1 142 BT E INBER 47.328 Q
2 144  Zgih FKX B R 47957 Q
3 145 Zith jEH [Fafs gt R 49.393
4 146 SRR iR [Fafs gt R 49.780



N BRI (FERHE R IE L)
(a—rbov IR )

F26ERFRS21=Fa—rIVIRE—FRT—FRFERSH B RS

chagp Ll b BF 500m

592K B No K% il B FP BX = BO BX BE
RIS 1 141 [LjF KB INBER 1 1 34 46.344

2 142 85T E INBER 1T 2 21 46.458

3 144 Fith K R 2 3 13 47.901

4 143 Fith HE R 2 4 8 48.283
FiE 5 149 #E ##X BEXRE 3 48.996

6 145 Zith G4 R 3 49.393

7 146 SRR R B R 4 49.780

8 14T 3RR E B PR 4 50.330
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C-AFa1J—FK




NR BRI (52 E5D
(Ta—rrov o)

F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

hep &Ll E BF 1000m
R

148

& I8 No. K% & a8 24 L ikl
1 144 it FKX EH P ER 34 140880 CR
2 143 Fith BFHE B ER 21 141444 CR
3 141 UjE KBA INBER 13 1.56.789

- 142 BT E INBESR NI

EREEHFES1=7oa—MNSYIRE—RRr— MEFHEASAAAS TRE234E3 A58

4 Pl E 5% 1000m
¥k 2 E4i2

148

& No. K4 FiiE Ba BAL EE
1 141 |LiE KBA INBER 138533 QCR
2 143 Fith FFE B PR 138720 QCR
3 146 SRR iR B PR 1.38808 CR
4 149 #tE #X BEKE 1.39.607 CR
24

&8 No. K% E g5 24 L BE=E
1 142 BT E INEERE 1.39551 QCR
2 144 it K B PR 140.703 QCR
3 145 Fih L B R 1.42.457

4 147 SRR E B R 1.43.235



N BRI (FERHE R IE L)
(a—rbov IR )

F26ERFRS21=Fa—rIVIRE—FRT—FRFERSH B RS

e B E BF 1000m

592K B No K% il B FP BX = BO BX BE
RIS 1 144 Fith #HK R 2 1 34 1.40.703

2 143 Fith HE B R 2 2 2 1.38.720

3 141 |l KBA INBER 1 3 13 1.38.533

4 142 BT EE INBER 1 1.39.551
FiE 5 146 RIR i® B R 3 1.38.808

6 145 Zith G4 R 3 1.42.457

7 149 ME X BEXRE 4 1.39.607

8 14T 3RR E B PR 4 1.43.235
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(Ta—rrov o)

F26ERFES2=7a—rIVIRE—RRT—MEFEXEMBKXRE Tr23E3R5H

hE4 Ll E BF 3000m SF
- <2 m

148

& I8 No. K% & a8 24 L ikl
1 142 BT E INBER 39 5.16.765

2 143 Fith BFHE B ER 21 5.17.902

3 141 UjE KBA INBER 13 5.18.459

4 144 it FKX EH P ER 8 5.18.840

5 145 Zgith & B ER 5 5.19.745

6 146 BRR & B R 3 5.19.832

7 147 BRR E B ER 2 5.24.524

8 149 Lk #X BEKE 1 5.26.263



BR IESIFE (S IESL)
(a—kboYoRE )

FEERFRO1=Ta—rIVIRE—RF Ry —MEFEASE B RR

chipspl F BF

B No K4 g BE SF IEfS SBE: B = E0EE (1500m (p)500m (p)1000m (p)3000m  {ilFE
1 142 =2F Eo INBE R 94 1 7 1 233617 (BH1 (21)2 4 (39)1
2 141 Ui KBA INBERE 73 3 7 1 234097 (13)3 (341 (13)3 (13)3
3 143 Fith BHFE AR PR 2 8 2 234070 (212 (84 (21)2 (21)2
4 144 Fith K AR PR 55 4 12 1 8 (133 (3H1 (8)4
5 145 Fith EH AR PR 13 5 16 4 235463 (8)4 6 6 (55
6 146 SRR iR AR PR 8 6 17 5 235485 (5)5 7 5 (3)6
7 1471 85RR E AR PR 4 7 23 7 253609 (2)7 8 8 (2)7
8 149 #E #X BEXRE 4 8 18 5 239000 (3)6 5 7 (18
Loxl)—

C-AFa1J—FK




